
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

AK SERIES BREWERS 
 
 
 
 
   
 
 
 

SPARE PARTS CATALOG 

AK-TC AK-LD AK-AP AK-TD AK-3 AK-2 AK-1 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

2

 
TABLE OF CONTENT 

Base Assemblies Pages 3 - 5  
  
Cover Assemblies Pages 6 - 8 
  
Tank Assemblies Pages 9 - 11 
  
Miscellaneous Components Pages 12 – 16 
  
  
  
  
  
  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

3

 
ITEM # IMAGE DESCRIPTION UM 

Base Assemblies 

101826 

 

Base Assembly, 3 Station 
 [AK-3 Model Only] 

1 EA. 

101773 
 

Base Assembly, 1 Station  
[AK-1 & AK-2 Models Only] 1 EA. 

110385 
 

Base, LDR 8.5” Wide Black  
[AK-TC, AK- AP, AK- LD, & AK-TD Models Only] 

1 EA. 

100003 

 
Snap On Bushing, 3/4" Black Plastic 1 EA. 

100010 

 

Warming Plate Assembly Black 1 EA. 

100008 

 

Porcelain Plate, Black With Studs 1 EA. 

100054 

 
#8 Lock Washer, External Tooth SS 1 EA. 

100061 

 

8-32 Nut, Hex SS 1 EA. 

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

4

 
ITEM # IMAGE DESCRIPTION UM 

Base Assemblies - Continued 

100086 

 

Support Plate, Warming Element 1  EA.  

100187 

 

Warming Element, 100W 120V Short 
[Recommended Stocking Part] 1 EA. 

100078 

 
Bumper Foot with Screw 1 EA. 

100160 

 

Screw, 4-40 x 5/8” SPHMS SS 1 EA. 

100254 

 
Decal, Warning “Hot Surface” 1 EA. 

100316 

 

T-100 Base [AK-3 Model Only] 1 EA. 

102792 
 

Base, Top 1 – Station Blank ACE  
[AK-1 & AK-2 Models Only] 1 EA. 

102811 

 

Base Top, 3 Station Blank  
[AK-3 Model Only] 1 EA. 

 
 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

5

 
ITEM # IMAGE DESCRIPTION UM 

Base Assemblies - Continued 

102814 

 

Base Bottom, 3 Station Spot Welded 
 [AK-3 Model Only] 1  EA.  

102794 
 

Base Bottom, Blank 1 Station ACE  
[AK-1 & AK-2 Models Only] 1 EA. 

102826 
 

Face Plate, Base 3 Station SS 
 [AK-3 Model Only] 1 EA. 

102826-B 
 

Face Plate, Base 3 Station Black 
 [AK-3 Model Only] 1 EA. 

102825 

 

Face Plate, Base 3 Station Black 
 [AK-1 & AK-2 Models Only] 1 EA. 

102825-B 

 

Face Plate, Base 1 Station Black  
[AK-1 & AK-2 Models Only] 1 EA. 

102845 

 

Plate, Louver 3 Station Base Stove  
[AK-3 Model Only] 1 EA. 

     

 
 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

6

 
ITEM # IMAGE DESCRIPTION UM 

Covers 

102611 
 

Cover Plain, Pour In Assembly 
 [AK-1, AK-3, AK-TC, AK-LD, 

 AK-AP, & AK-TD Models Only] 
1  EA.  

110786 
 

Cover Assembly, 1 Sta. Step Up Pour In Assembly 
 [AK-2 Model Only] 

1 EA. 

100010 

 

Warming Plate Assembly Black 1 EA. 

100008 

 

Porcelain Plate, Black With Studs 1 EA. 

100054 

 
#8 Lock Washer, External Tooth SS 1 EA. 

100061 

 

8-32 Nut, Hex SS 1 EA. 

100086 

 

Support Plate, Warming Element 1 EA. 

100187 

 

Warming Element, 100W 120V Short 
[Recommended Stocking Part] 1 EA. 

 
 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

7

 
ITEM # IMAGE DESCRIPTION UM 

Covers – Continued 

100160 

 

Screw, 4-40 x 5/8” SPHMS SS 1  EA.  

100192 

 

Pop Rivet, SS 1 EA. 

100254 

 
Decal, Warning “Hot Surface” 1  EA.  

102333 

 

Screw, Combo Head 6-32 x 3/8 SS  1  EA.  

110625 
 

Cover & Grid Black Plastic Pour In 1 EA. 

110623 
 

Grid Only, Black Plastic Pour In 1 EA. 

110624 
 

Cover Only, Black Pour In 1 EA. 

110681 

 

Cover Only, 1 Sta. Pour In Blank  
[AK-2 Model Only] 1 EA. 

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

8

 
ITEM # IMAGE DESCRIPTION UM 

Covers – Continued 

511050 

 

Bushing, Snap Split 3/4"   
[AK-2 Model Only] 1  EA.  

705371 

 

NK Stove 1 Sta. Cover 1 EA. 

110682 

 

Cover Only, AK Pour In Assembly 
[AK-1, AK-3, AK-TC, AK-LD, 

 AK-AP, & AK-TD Models Only] 
1  EA.  

     

     

     

     

     

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

9

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assemblies 

101842 

 

Tank Assembly, AK 1400W 120V  
[AK-1, AK-2, AK-3, & AK-TC Models Only] 

1  EA.  

101857 

 

Tank Assembly, AK 1750W 120V 
[AK-LD, AK-AP, & AK-TD Models Only] 

1 EA. 

100025 

 

Spray Head Gasket 1  EA.  

100061 

 

8-32 Nut, Hex SS 1  EA.  

100054 

 
#8 Lock Washer, External Tooth SS 1 EA. 

101726 
 

Spray Head Tube Assembly, AK 1 EA. 

110056 

 

Thermostat Bracket, AK 1 EA. 

110932 

 

Screw, #6 x 3/8” PPH Tek ZP 1 EA. 

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

10

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assemblies - Continued 

110970 

 

Thermostat Assembly, EGO With Wires 
[Recommended Stocking Part] 1  EA.  

110931 

 

Screw, M4 x 8MM PFHMS ZPS 1  EA.  

110933 

 

Thermostat Bracket, EGO 1  EA.  

704119 

 

Tank Only, K 1  EA.  

704221 

 

Silicone Gasket, Tank 1  EA.  

705199 

 

Lid Assembly, NK Pour Over 1400W  
(Main Thermostat Not Included) 

[AK-1, AK-2, AK-3, & AK-TC Models Only] 
1  EA.  

705399 

 

Lid Assembly, NK Pour Over 1750W 
(Main Thermostat Not Included)  

[AK-LD, AK-AP, & AK-TD Models Only] 
1 EA. 

100190 

 

Jam Nut, 1/2-20” Brass 1  EA. 

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

11

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assemblies - Continued 

100269 
 

Thermostat Bracket, Hi Limit 1  EA.  

100409 

 
Gasket, .520” ID Tin Plated 1  EA.  

110574 

 

Thermostat, Auto Straight Tab 222F 
[Recommended Stocking Part] 1  EA.  

701170 
 

Heating Element, 1400W 120V  
[AK-1, AK-2, AK-3, & AK-TC Models Only] 

[Recommended Stocking Part] 
1  EA.  

202025 
 

Heating Element, 1750W 120V   
[AK-LD, AK-AP, & AK-TD Models Only] 

[Recommended Stocking Part] 
1  EA.  

705214 

 

NK Tank Lid Pour Over, Spot Welded 1  EA.  

781555 

 

Silicone Gasket, Delivery – Siphon 1 EA. 

     

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

12

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components 

100003 

 
Snap On Bushing, 3/4" Black Plastic 1  EA.  

101349 

 

Harness & Power Cord Assy., 14/3 120V 15A 
[AK-3 Model Only] 1  EA.  

781843 

 

Power Cord, 14/3 120V 15A With Shrink 1  EA.  

100024 

 

Spray Head, SS 5 Hole 
[Recommended Stocking Part] 1  EA.  

100054 

 
#8 Lock Washer, External Tooth SS 1  EA.  

100061 

 

8-32 Nut, Hex SS 1  EA.  

100284 
 

Plastic Tie Wrap, 5 3/4" 1  EA.  

100500 

 

Rocker Switch, On – Off Black 
[Recommended Stocking Part] 1  EA.  

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

13

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components – Continued 

101035 

 

Grommet, Strain Relief 14/3 1  EA.  

102333 

 

Screw, Combo Head 6-32 x 3/8 SS  1  EA.  

102799 

 

Right Hand Brew Rail – ACE 1  EA.  

102800 

 

Left Hand Brew Rail – ACE 1  EA.  

105043 

 

Washer, 6-32 x 3/8” PPHMS SS 1  EA.  

110058 
 

Label, Switch Plate AK-3 1  EA.  

110130 

 

Ready Light Assembly, Green AK 
[Recommended Stocking Part] 1  EA.  

110985 

 

Brew Basket Assembly, BW MOD VAC Black 
[Recommended Stocking Part] 1  EA.  

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

14

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

152225 
 

Plastic Tie Wrap, 4” 1  EA.  

201173 

 

Spray Head Nut 1  EA.  

201178 

 

Receptacle Adaptor, Double .250  1  EA.  

511027 

 

Screw, 8-32 x 3/8” SPHMS SS 1  EA.  

700015 

 

Washer, 1” OD x 3/4" ID SS 1  EA.  

700016 

 

Silicone Gasket, 1.062” OD x .672 ID” 1  EA.  

700325 

 

Receiving Pan, No Hole In Wall 1  EA.  

701200 
 

Nut, Hex Slotted 3/4-16” Tin Plated 1  EA.  

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

15

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

781432 

 

Switch, Black Rocker With Red Lens 
[Recommended Stocking Part] 1  EA.  

726308 

 

Double Adaptor Tab, .250 Brass 1  EA.  

100085 

 

Switch, Lighted On – Off 120V 
[Recommended Stocking Part] 

 
1  EA.  

121374 
 

Label, Switch Plate AK-1 1  EA.  

110057 
 

Label, Switch Plate AK-2 1  EA.  

102129 

 

Insulated Sleeve, 1/4" Straight 1  EA.  

110359 

 

Screw, #8 x 1/2" PPHZPS Hi Lo 1  EA.  

111445 

 

Thermal Server, 1.9L Short 1  EA.  

 
 



AK SERIES 
 Pour Over Glass Bowl & Thermal Brewing Systems 

25-Nov-19                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

16

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

201207 

 

64 Oz.  Pour In Pitcher 1  EA.  

100192 

 

Pop Rivet, SS 1  EA.  

100557 
 

Line Splice, .250 22 – 10 Gauge 1  EA.  

700902 

 

75 Oz.  Pour In Pitcher 1  EA.  

101719 
 

Label, Face Plate Thermal AK 1  EA.  

101840 

 

Board Assembly, Auto Shut Off 
[AK2-AS & AK3-AS Series] 1  EA.  

102562 

 

Momentary Switch DPST Red Lens 
[AK2-AS & AK3-AS Series] 1  EA.  

101390 

 

Board Only, AK-AS Series 1  EA.  

 
 


